[ Efficiency vs vertpos |
- 05

0.95
1072

1 2

10 0
TP vertr (cr%)

MKEIL_T1originar
mKFit_TTNEW
mKFit_TTNEW50
mkFit TTNEW100

Efficiend

~ 0.1

L (S SRS S o I S

At I

>0.08------ e R i e

> E : : : : :

2 E : : : : :

o S S A SR S I S

[} E : : : : :

£ 0.06------ renneedeeeneeee S N Preenees

o E : : : : :
R L S ] L S
0.0+ oo

Y5 SIS MR S N O 1 N
002k b

ookt Lyl
kS : 1
hd N H
| RS P
03510 0 10 2030

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

> F : : :
Y0715 SO0 N SOUUORE SRRRROS OUUOOOS SO Y
1S E :
] AR A S S
.035F -+ f:d e d e b
) E :
00,03 -
g E Es : :
D.025F - deeeedn -
(0] E : : :

0.02F+++{-++eeeeoe %, .....
0.015F 4ty [ ot [T

0.0 %
0.0+ {4+ iy

P TN [N I A A |
9 J..LU_ : : :
T [ 1 : o :
o N
i s f- g L REELES P
0BG =5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


